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BGL | N K4 77 k| A2 |GROSS| HDCP | NET | crossif g% Ear | BINE K4 7~ A2 | GROSS| HDCP | NET |crosshfi e
LA Gk 39 39 78| 8.4 |69.6 1 128w 46 53 99/22.8 |76.2 54
2| B9 Foal 41 41 82/ 12.0 |70.0 43|\ RN 45 54 99(22.8 | 76.2 55
3|SFIE FR 44 39 83 12.0 | 71.0 44\ PEfE 42 44| 86| 9.6 |76.4 11
41— R 43 45 88| 16.8 | 71.2 17 45 | FF mf 45 47| 92|/ 15.6 |76.4 31
5|78 Fnzg 43 44 87| 15.6 |71.4 14 46 | JRfS ZE— 44 48 92| 15.6 | 76.4 32
6|77 T W+ 50 48 98] 26.4 | 71.6 49 A7 |1LRE #1E 54 49| 103/26.4 | 76.6 62
TIFH St 43 42 85 13.2 | 71.8 8 48 |fliA Fi|2= 45 45 90| 13.2 | 76.8 25
8| KB FRA 50 47 97|25.2 | 71.8 47 49| HAT TE— 51 51| 102|25.2 | 76.8 61
CIEN A EE: 46 44| 90/ 18.0 |72.0 23 50| AifJEL fR 49 46|  95/18.0 | 77.0 43
10BN B 44 44 88| 15.6 | 72.4 16 51|@s 1ERA 49 51| 100|22.8 | 77.2 58
111 B 42 45 87| 14.4 | 72.6 15 52| Ry #kth 48 45 93| 15.6 | 77.4 35
12|FH H& 46 46 92(19.2 | 72.8 30 53VL O+ 47 46 93| 15.6 | 77.4 36
13|7KE Mk 46 45 91/ 18.0 |73.0 26 54|kE )T & 45 45 90/ 12.0 | 78.0 24
14 T R 40 45 85/ 12.0 |73.0 9 557 =% 51 56| 107/28.8 |78.2 67
15| =H #H 43 48 91]18.0 | 73.0 28 56| L1 FIBA 51 61| 112/33.6 | 78.4 72
16| HiRF A 43 51 94|20.4 | 73.6 41 57|/hA PR 45 53 98/19.2 1 78.8 51
17 =6 B 43 51 94(20.4 | 73.6 42 58| KEE A 45 46 91| 12.0 | 79.0 27
18/H )& 5L 57 36 93/19.2 | 73.8 34 59 T8 % 44 45 89| 9.6 |79.4 21
19| 70HE FE 43 38 81| 7.2 |73.8 2 60 =il JE— 48 47 95/ 15.6 | 79.4 44
20| A 43 43 86| 12.0 | 74.0 10 61| AR s 51 55| 106|26.4 | 79.6 65
21| Rk EE 40 46 86| 12.0 | 74.0 13 62| HIR =1fif 43 48 91/10.8 |80.2 29
22| fLjpk HHE 41 51 92| 18.0 | 74.0 33 63| HE EHE 48 60| 108|27.6 | 80.4 69
23| KH & 48 41 89| 14.4 | 74.6 18 64|#EM H 50 44| 94/13.2 |80.8 38
24| /Nt 2 46 43 89| 14.4 | 74.6 19 65| )R F=5L4 50 50| 100|19.2 |80.8 56
AV /LN 44 45 89| 14.4 | 74.6 20 66| fRJR 18 50 50| 100]19.2 |80.8 57
2671 FEM 47 47 94(19.2 | 74.8 39 67| Kb % 48 51 99/18.0 [81.0 53
21159 B 49 57|  106]31.2 |74.8 66 68| FH #4%H 59 55| 114]32.4 |81.6 73
28| A 41 40 81| 6.0 |75.0 3 69| H #E= 42 47 89| 7.2 [81.8 22
29| 1L BE# 39 42 81| 6.0 |75.0 08 5L% 47 53|  100]18.0 |82.0 59
30| BuE 50 55| 105/30.0 |75.0 64 71| ILgs v 61 57| 118/36.0 [82.0 76
3L|Fnm &R 42 44 86| 10.8 | 75.2 12 72| TE A 50 49 99/16.8 |82.2 52
32| WEIR 1B 49 49 98] 22.8 | 75.2 50 3 HFR 54 57| 111[28.8 |82.2 71
33 HmE HE 50 54| 104[28.8 | 75.2 63 TAMLE [EF 49 61| 110/27.6 | 82.4 70
34| il & 44 41 85| 9.6 | 75.4 7 TR R 59 56| 115/32.4 |82.6 74
35| FH BEfE 51 46 97/21.6 | 75.4 46 76| LRy = 59 60| 119/36.0 |83.0 77
36| fA B FnfEx 46 51 97/21.6 | 75.4 48 T\ kT FT 59 57| 11631.2 |84.8 75
37 tEAR HEHL 46 49 95/ 19.2 | 75.8 45 78 |{TEF InfRF 56 67| 123/36.0 |87.0 78
38| & Fn FhE 47 54| 101|25.2 |75.8 60 9&T BET 68 56| 124]36.0 |88.0 79
39\ H B AR 50 57| 107|31.2 | 75.8 68 80|BA —HE T 63 61| 124]/36.0 |88.0 80
40| BVE RIE 44 50 94| 18.0 |76.0 40 81|fRH it 63 62| 125/36.0 [89.0 81
N\HE ' 43 50 93| 16.8 | 76.2 37
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